LL =15 T al@s)+b &)

28,375 = a (1415)+(q,5) .

L O=
. O=

‘ I3
= b= 2
12, a5=-5(-7) *+ (™)
2 “FHg~ T .
2. e = S0

- {27y Te + w(1x 22
’Ei@o/\&a&’\ T r T (1« %

NZ

Ql)rze'?) o + T2 (U gk

e
\\r\ (4 26%)" To + T (16 52

o = 6S5C
R ' R
2. o 1
L ldlo
\Pi - 7&‘1 ni
2, k,‘\ '
33R?
N =
34, p
7n

L‘\.,\. ~ bk koK. - .. Lok

1 | ) t- 4
o “T'g Mg T2 TN
2 vl

- ( Ch’(S /(,-

3uc*(K) = LONT (@ﬂ o)
\
®- A

N= 163 morths,
ie VA 82@\:’6,

b, 2.
: - . %07
TO TE Ta Ty OF g
B0 = 2%16°0) - 4o o (@
&-1
= 5 LU B3R N6
bwest 3 2 wulhion

1362422 W {5 v banK .

53 iSK,
I ] ,
\Z)JO [ —I!‘-/\
26 ... ‘\ & \%k(. \\

.

N= 165 monthsS |
\2 ond 4 3mv:§,

5. R = RO A¢0)

51 SA & Pan=?( 140,00%)
F=0,00%3 WNveasing |

G Poyi = P(1-0,0006)

f= 0,0000 dec&feosmﬁ

52. sp . B=55 436360(1+ 0,09
G. fi= 30 636 \2a(1-0 0
n—= 42) 2o -
e N= 43 \JeorsS .



¢l v=1b -a.
b= swv rale Jofm % lﬁez’; X h%o
=70 x 557/ X 3% 2/1.
a = %de/[\{'esFoV\

= 4 Py = 22, OV1..

o= 19T Py = 22,77

e P = 22, 539..

= el P71 = 22 ,463..

_ _ P = 23,010
b2 Pm_-\’- PV\(H— ;2\\7> le Pg = 23
63 o= 15,

P\ = w55

P2 = 1507335

Py = W17, gas..

Pa =1514,705..

P = 420\, bIT--

P = \ S22 (21 -

P = %3950,a15..
LABRBO,

2. R0 ralp (1- )0kl

E'\ Anh= Rn
22 a(1- %) = bFa

M = BK + fofn Th-ctn
0 K

Y= _O)Q@OFL‘J +0,0213.

ﬁ;\-\-\_-' V2

a) C=0,02\% Jo FoRn= C |

0) K= 2S5 = 106, o Re= C
B

c

R L o1~ Fx)= b

= -0y0002(32) +0,0213 . Fa= %(\, ﬁ;‘KB
= O, 0149, |

- _
A) Faw = Pnrefa (0 "\»’53
= Pﬂ+O)O\‘+q Pﬂ(‘-_@__}
1ok



9.3

WV O

o) fedakov /

MaX SO \/

WAL\ 20 .

Low # predators v
oA growthh vale of
pYey.
Somwe covid have \een
WWeduced s & & so

S’cﬁe?_



